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1 P�M. N 
3!D
�:#�%UL.

2013�, Bennett, BugeaudI Mignotte[1] |u/:℄fdlj�d& xa+yb+1 = zq%+5I8�, $"i1a�, �� x, y, z, a, b, q ∈ N .����, $K
�: n tqNo(
3P
n = a0 + a1b+ · · ·+ ambm,���: b > 1 P�:R, ai ∈ {0, 1, · · · , b − 1}, 0 6 i 6 m �PQ:. /B*%oA�:R b > 1, � Bk(b) 
3 b g��o2��1w k A:�Q:%
�:UL. 	�
.��
�, /{B*%
�:j� S, o�v<, ^U S ∩ Bk(b) 4oAw\U,  m��
oa�4:Æu�%. ' S v�8:!DD�, � S ∩ B3(b) �4w\U (sP

((1 + bl)2 = 1 + 2bl + b2l, l > 1)). 2002 � Szalay[2] ���' S 4��8:!DD�%UL, � S ∩ B3(2) = {72, 232, (2t + 1)2, t ∈ N}. � S 4~ 3 N?%
�:�8!DD�%UL, 2012 � Bennett[3] ��� S ∩B3(3) = {12, 52, 82, 132, (3t + 1)2}, 
{ t 4oA
�:. G1S [3] n��� S ∩B3(3) = {133}, 
{ S 4~ 3 N?%
�: q �Æ!DD��T 2020 � 4 � 10 %5#, 2021 � 7 � 23 %5#g?�.
1XO07�k;k�
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∗�T7#GZ!#skSe (No. 11871058) J=�/_�F���_ (No. 16ZA0173) & �.



360 ; k � q A T 42 l%UL, ?: q = 3 Q 7 6 q < 1000 . ' S 4
�: q �Æ!DD�%UL (q > 2), �
{72, 133, 232, 34, 92, (2t + 1)2} ⊂ (S ∩B3(2)) ∪ (S ∩B3(3)). Bennett ���&Z*y..9 1.1 [3] '���: a > b > 0, q > 2 �" xa + xb + 1 = yq, x ∈ {2, 3},� (x, a, b, y, q) = (2, 5, 4, 7, 2), (2, 9, 4, 23, 2), (3, 7, 2, 13, 3), (2, 6, 4, 3, 4), (4, 3, 2, 9, 2), (4, 3, 2,

3, 4) Q (x, a, b, y, q) = (2, 2t, t+ 1, 2t + 1, 2), �� t = 2 Q t > 4.�/ n5 %(g��o2ge;w1, Bennett lj�8�
2δ13a + 2δ2 = n5, a > 0, δi ∈ {0, 1}I

2δ13a + 2δ23b + 2δ3 = n5, a > b > 0, δi ∈ {0, 1},����d (δ1, δ2, δ3) = (0, 0, 1) K, +98�nVb. 2018 �, Singh[4] lj�+5I8�
3a + 3b + 2 = n5, (1.1)�$"�qZa�..9 1.2 [4] ' a > b > 0, n ∈ N ,�! 2 < n 6 2+6(106)1,+5I8� 3a+3b+2 =

n5 V
�:b.��S�, U�℄us2;b�G|�(g�I+5I�i'�'84L!(bm8� (1.1), U����&Z*y..9 1.3 ' a > b > 0, n ∈ N , �8�
3a + 3b + 2 = n5%No
�:b4 (a, b, n) = (3, 1, 2) .�S%aD&Z: �)3`�, U�B��*y 1.3 %����hm%oaty. �)(`�, U�B��*y 1.3 %��.

2 P�:�`, �md-*y%���hmu"%ty.O9 2.1 ' a�b -4�:, Q�o�o�, �+5I8� (1.1) V
�:b.T ;~��d��.



4 � �ZF z�^ W�M"�&,R;)h��p 361>L 1 a�b nP�:, /8� (1.1) �� 8, $
4 ≡ 3a + 3b + 2 ≡ n5 ≡ 0 (mod 8), (2.1)	0.>L 2 a P�:, b P�:, Gy/8� (1.1) �� 8, $
6 ≡ 3a + 3b + 2 ≡ n5 ≡ 0 (mod 8), (2.2)	0.Gyt� a P�:, b P�:��}. s�8� (1.1) V
�:b.O9 2.2 '8� (1.1) w
�:b, � n ≡ 2 (mod 6).T /8� (1.1) �� 3, $ 2 ≡ n5 (mod 3). v{ (n, 3) = 1, w

n ≡ n3 ≡ n5 ≡ 2 (mod 3).� n = 3t + 2, t P:<�:. v8� (1.1) t$ n P�:, �q t P�:, s�
n ≡ 3t+ 2 ≡ 2 (mod 6).O9 2.3 '8� (1.1) w
�:b, � a ≡ 1 (mod 4), b ≡ 3 (mod 4) Q a ≡ 3

(mod 4), b ≡ 1 (mod 4).T vty 2.2, n ≡ 2 (mod 6), s�t. n = 6j + 2, �8� (1.1) >bP
3a + 3b + 2 = (6t+ 2)5. (2.3)/8� (2.3) �� 16, $ 3a + 3b + 2 ≡ 0 (mod 16). vty 2.1 � a, b nP�:.' a ≡ b ≡ 3 (mod 4), � 8 ≡ 3a + 3b + 2 ≡ (6t+ 2)5 ≡ 0 (mod 16), 	0.' a ≡ b ≡ 1 (mod 4), � 8 ≡ 3a + 3b + 2 ≡ (6t+ 2)5 ≡ 0 (mod 16), 	0.�2t$ a ≡ 1 (mod 4), b ≡ 3 (mod 4) Q a ≡ 3 (mod 4), b ≡ 1 (mod 4).O9 2.4 8� 3a + 3b + 2 = (6j + 2)5 w
�:b, � 5 | j.T vty 2.3, a ≡ 1 (mod 4), b ≡ 3 (mod 4), Q a ≡ 3 (mod 4), b ≡ 1 (mod 4).' a ≡ 1 (mod 4), b ≡ 3 (mod 4), �/8� 3a + 3b + 2 = (6j + 2)5 �� 5, $

2 ≡ 3a + 3b + 2 ≡ (6j + 2)5 ≡ 6j + 2 (mod 5),s� 5 | 6j, �q 5 | j. Gyt� a ≡ 3 (mod 4), b ≡ 1 (mod 4) 1, 5 | j.O9 2.5 8� (1.1) w
�:b, �
a ≡ 1 (mod 20), b ≡ 3 (mod 20);
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a ≡ 3 (mod 20), b ≡ 1 (mod 20);Q
a ≡ 5 (mod 20), b ≡ 7 (mod 20);Q
a ≡ 7 (mod 20), b ≡ 5 (mod 20).T vty 2.2 Vty 2.4 $ n5 = (6j + 2)5 ≡ 7 (mod 25). vty 2.3, a ≡ 1

(mod 4), b ≡ 3 (mod 4) Q a ≡ 3 (mod 4), b ≡ 1 (mod 4).' a ≡ 1 (mod 4), b ≡ 3 (mod 4) ,� a ≡ 1(mod 20), a ≡ 5(mod 20), a ≡ 9 (mod 20),

a ≡ 13 (mod 20) Q a ≡ 17 (mod 20).

(1) a ≡ 1 (mod 20). vty 2.4 $ n = 6j + 2 � 5 | j, s� 3 + 3b + 2 ≡ 7 (mod 25),�q 3b ≡ 2 (mod 25), E b ≡ 3 (mod 20).

(2) a ≡ 5 (mod 20). Gyt$ 18 + 3b + 2 ≡ 7 (mod 25), E b ≡ 7 (mod 20).

(3) a ≡ 9 (mod 20). t$ 8 + 3b + 2 ≡ 7 (mod 25), � b ≡ 11 (mod 20). �1, w
n5 ≡ 39 + 3 + 2 ≡ 9 (mod 11), W 1 ≡ n10 ≡ 92 ≡ 4 (mod 11), 	0.

(4) a ≡ 13 (mod 20). t$ −2+3b+2 ≡ 7 (mod 25),� 3b ≡ 7 (mod 25), �q b ≡ 15

(mod 20). �1, n5 ≡ 33 + 35 + 2 ≡ 8 (mod 11), W 1 ≡ n10 ≡ 82 ≡ 9 (mod 11), 	0.

(5) a ≡ 17 (mod 20). t$ 15 + 3b ≡ 7 (mod 25), � b ≡ 19 (mod 20). �1, n5

≡ 37 + 39 + 2 ≡ 4 (mod 11), W 1 ≡ n10 ≡ 42 ≡ 5 (mod 11), 	0.w>t� a ≡ 3 (mod 4), b ≡ 1 (mod 4).O9 2.6 �
xk =

k
∑

i=0

ai · 3
i, ai ∈ {0, 1, 2}, 0 6 i 6 k, ak > 0, k ∈ N, (2.4)�w

160xk + 320x2
k + 320x3

k + 160x4
k < 34k+9,

2 · 35k + 35k+1 + 35k+3
6 32x5

k < 2 · 35k+8.T sP 3k 6 xk < 3k+1, �q
160xk + 320x2

k + 320x3
k + 160x4

k < 2 · 3k+5 + 2 · 32k+7 + 2 · 33k+8 + 2 · 34k+8 < 34k+9,

2 · 35k + 35k+1 + 35k+3 = 32 · 35k 6 32x5
k < 32 · 35k+5

= 2 · 35k+5 + 35k+6 + 35k+8 < 2 · 35k+8.
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3 /: 1.3 -U=. (a, b, n) 48� (1.1) %oA$r%
�:b. vty 2.5� a ≡ 1 (mod 20), b ≡ 3

(mod 20) Q a ≡ 3 (mod 20), b ≡ 1 (mod 20) Q a ≡ 5 (mod 20), b ≡ 7 (mod 20) Q a ≡ 7

(mod 20), b ≡ 5 (mod 20). s� a 6= b, w a > b + 2. vty 2.2 � n = 6j + 2, j ∈ N , E8� (1.1) '[{
3a + 3b + 2 = (6j + 2)5. (3.1)U�6[r��d: a ≡ 3 (mod 20), b ≡ 1 (mod 20).' a = 3 � b = 1, � 25 = 33 + 3 + 2 = n5, �q (a, b, n) = (3, 1, 2) 48� (1.1) %oA
�:b.' a > 3 � b = 1, �� a = 20k + 3, k ∈ N , ℄8� (3.1) %y~�G1\ 32, t$

33(320k − 1) = 25((3j)5 + 5(3j)4 + 10(3j)3 + 10(3j)2 + 15j). (3.2)s� 32 | j. �8� (3.2) �u 9h EP j, ��8�~
G�q 33, t$
320k = 1 + 32(312 · h5 + 5 · 39 · h4 + 10 · 36 · h3 + 10 · 32 · h2 + 5 · h). (3.3).
�: h %(g��o2P
h =

m
∑

i=0

ai · 3
i, ai ∈ {0, 1, 2}, 0 6 i 6 m− 1, am ∈ {1, 2}, m ∈ N. (3.4)Y

hr =
r

∑

i=0

ai · 3
i, r 6 m.v8� (3.3) t$

320k = 1 + 32 · 312 · h5
m + 160 · 39 · h4

m + 320 · 36 · h3
m + 320 · 33 · h2

m + 160 · hm. (3.5)vty 2.6 t$
2 · 35m+12 + 35m+13 + 35m+15

6 32 · 312 · h5
m < 2 · 35m+20,�

1 + 160 · 39 · h4
m + 320 · 36 · h3

m + 320 · 33 · h2
m + 160 · hm

< 39 · (160 · h4
m + 320 · h3

m + 320 · h2
m + 160 · hm)

< 34m+18.{4v8� (3.5) t$
2 · 35m+12 + 35m+13 + 35m+15

6 320k < 34m+18 + 2 · 35m+20.



364 ; k � q A T 42 ls� 5m+ 16 6 20k 6 5m+ 20, �q 20k = 5m+ 20. �
1 + 160 · 39 · h4

m + 320 · 36 · h3
m + 320 · 33 · h2

m + 160 · hm =
u
∑

i=0

xi · 3
i,

xi ∈ {0, 1, 2}, 0 6 i 6 u− 1, xu ∈ {1, 2}, u 6 4m+ 17.�v8� (3.5) t$
32 · 312 · h5

m =

u
∑

i=0

bi · 3
i +

5m+19
∑

i=u+1

2 · 3i. (3.6)&H
hm 6 2 · 3m−7 + 3m−6 + 2 · 3m−5 + 2 · 3m−2 + 2 · 3m−1 + 2 · 3m = 6341 · 3m−7,�

32 · 312 · h5
m 6 32 · 63415 · 35m−23 < 2 · 35m+12 + 35m+13 +

5m+19
∑

i=5m+14

2 · 3i.Ck*y 1.2 %a�t$ 5m+ 13 > 4m+ 17 > u, ~8� (3.6) 	0.&H
hm > 2 · 3m−6 + 2 · 3m−5 + 2 · 3m−2 + 2 · 3m−1 + 2 · 3m = 2114 · 3m−6,�

32 · 312 · h5
m > 32 · 21145 · 35m−18 > 35m+12 + 35m+20,
n~8� (3.6) 	0. s�$"

am−3 = am−4 = 0, am−6 = 1, am−7 = am−5 = am−2 = am−1 = am = 2..
x = 2 · 3m−2 + 2 · 3m−1 + 2 · 3m = 3m−2(2 + 2 · 3 + 2 · 32) = 26 · 3m−2,� hm = hm−3 + x. &H

hm−3 6
5

2
· 3m−5,�


h2
m = (hm−3 + x)2 = h2

m−3 + 2xhm−3 + x2 = U + x2,��
U 6

((5

2

)2

+ 2 ·
5

2
· 26 · 33

)

· 32m−10 =
14065

4
· 32m−10.s�

h3
m = (U + x2)(hm−3 + x) = U · hm−3 + U · x+ x2 · hm−3 + x3 = V + x3,
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V 6

(14065

4
·
5

2
+

14065

4
· 26 · 33 + 262 ·

5

2
· 36

)

· 33m−15 =
29673665

8
· 33m−15.�q

h4
m = (V + x3)(hm−3 + x) = V · hm−3 + V · x+ x3 · hm−3 + x4 = W + x4,��

W 6

(29673665

8
·
5

2
+

29673665

8
· 26 · 33 + 263 ·

5

2
· 39

)

· 34m−20 =
55648130305

16
· 34m−20.{4

h5
m = (W + x3)(hm−3 + x) = W · hm−3 +W · x+ x4 · hm−3 + x5 = T + x5,��
T 6

(55648130305

16
·
5

2
+ 26 ·

55648130305

16
· 33 + 264 ·

5

2
· 312

)

· 35m−25

= 35m−25 ·
97836678193025

32
.�r"

32 · 312 · T 6 35m−13 · 32 ·
97836678193025

32
< 35m+14 + 35m+15 + 35m+16I

32 · 312 · x5 = 32 · 265 · 35m+2 < 35m+2(310 +311 +312 + 313 +314 +2 · 315 +2 · 316 + 2 · 317),w
32 · 312 · h5

m = 32 · 312 · T + 32 · 312 · x5
6 35m+12 + 35m+13 +

5m+19
∑

i=5m+14

2 · 3i,v{ 5m+ 13 > 4m+ 17 > u, E~8� (3.6) 	0. &H
hm−3 >

5

2
· 3m−5,�w

hm−6 > 2 · 3m−7 + 3m−6 +
(5

2
− 2

)

3m−5 =
19

18
· 3m−5..

y = 2 · 3m−5 + 2 · 3m−2 + 2 · 3m−1 + 2 · 3m = 704 · 3m−5,Gy, w
h2
m = (hm−6 + y)2 = h2

m−6 + 2yhm−6 + y2 = U + y2,

U >
((19

18

)2

+ 2 ·
19

18
· 704

)

· 32m−10 =
481897

182
· 32m−10.

h3
m = (U + y2)(hm−6 + y) = U · hm−6 + U · y + y2 · hm−6 + y3 = V + y3,
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V >

(481897

182
·
19

18
+ 704 ·

481897

182
+

19

18
· 7042

)

33m−15 =
9166766923

183
· 33m−15.

h4
m = (V + y3)(hm−6 + y) = V · hm−6 + V · y + y3 · hm−6 + y4 = W + y4,

W >
(19

18
·
9166766923

183
+ 704 ·

9166766923

183
+

19

18
· 7043

)

· 34m−20

=
155114063642018

184
· 34m−20.

h5
m = (W + y4)(hm−6 + y) = W · hm−6 +W · y + y4 · hm−6 + y5 = T + y5,

T >
(154997864300305

184
·
19

18
+ 704 ·

154997864300305

184
+

19

18
· 7044

)

35m−25

=
16899074411620502

185
· 35m−25.�r"

32 · 312 · T > 35m−13 · 32 ·
2457008148989818819

185
> 35m−13 · (325 + 326 + 2 · 328)I

32 · 312 · y5 = 32 · 7045 · 35m−13 = 35m−13(1 + · · ·+ 328 + 2 · 329 + 2 · 330 + 2 · 331 + 2 · 332),w
32 · 312 · h5

m = 32 · 312 · T + 32 · 312 · y5 > 35m+12 + 35m+13 + 35m+20,n~8� (3.6) 	0.' a > b > 5, �� a = 20k + 3, k ∈ N , ℄8� (3.1) %y~�G1\ 32 ��q 3,t$
320k+2 + 3b−1 = 1 + 32 + 32(34 · j5 + 5 · 33 · j4 + 10 · 32 · j3 + 10 · 3 · j2 + 5 · j). (3.7).
�: j %(g��o2P

j =

m
∑

i=0

ai · 3
i, ai ∈ {0, 1, 2}, 0 6 i 6 m− 1, am ∈ {1, 2}, m ∈ N. (3.8)Y

hr =

r
∑

i=0

ai · 3
i, r 6 m.v8� (3.7) t$

320k+2 + 3b−1 = 1 + 32 + 32 · 34 · h5
m + 160 · 33 · h4

m

+ 320 · 32 · h3
m + 320 · 3 · h2

m + 160 · hm. (3.9)vty 2.6 t$
2 · 35m+4 + 35m+5 + 35m+7

6 32 · 34 · h5
m < 2 · 35m+12,
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1 + 32 + 160 · 33 · h4

m + 320 · 32 · h3
m + 320 · 3 · h2

m + 160 · hm

< 33(160 · h4
m + 320 · h3

m + 320 · h2
m + 160 · hm)

< 34m+12.{4v8� (3.9) t$
2 · 35m+4 + 35m+5 + 35m+7 < 320k+2 + 3b−1 < 34m+12 + 2 · 35m+12.zv b− 1 6 20k, s� 5m+ 8 6 20k + 2 6 5m+ 12, �q 20k + 2 = 5m+ 12. �

1 + 32 + 160 · 33 · h4
m + 320 · 32 · h3

m + 320 · 3 · h2
m + 160 · hm =

u
∑

i=0

xi · 3
i,

xi ∈ {0, 1, 2}, 0 6 i 6 u− 1, xu ∈ {1, 2}, u 6 4m+ 11,�v8� (3.9) t$:' 3b−1 6 xu · 3u, �
32 · 34 · h5

m =

u
∑

i=0

bi · 3
i +

5m+11
∑

i=u+1

2 · 3i; (3.10)' 3b−1 > xu · 3u, �
32 · 34 · h5

m =
u
∑

i=0

bi · 3
i +

b−2
∑

i=u+1

2 · 3i + 35m+12. (3.11)&H
hm 6 2 · 3m−7 + 3m−6 + 2 · 3m−5 + 2 · 3m−2 + 2 · 3m−1 + 2 · 3m = 6341 · 3m−7,�

32 · 34 · h5
m 6 32 · 63415 · 35m−31 < 2 · 35m+4 + 35m+5 +

5m+11
∑

i=5m+6

2 · 3i.Ck*y 1.2 %a�t$ 5m+ 5 > 4m+ 11 > u, ~8� (3.10) V8� (3.11) 	0.&H
hm > 2 · 3m−6 + 2 · 3m−5 + 2 · 3m−2 + 2 · 3m−1 + 2 · 3m = 2114 · 3m−6,�

32 · 34 · h5
m > 32 · 21145 · 35m−26 > 35m+4 + 35m+12,
n~8� (3.10) I8� (3.11) 	0. s�$"

am−3 = am−4 = 0, am−6 = 1, am−7 = am−5 = am−2 = am−1 = am = 2..
x = 2 · 3m−2 + 2 · 3m−1 + 2 · 3m = 3m−2(2 + 2 · 3 + 2 · 32) = 26 · 3m−2,



368 ; k � q A T 42 l� hm = hm−3 + x. &H
hm−3 6

5

2
· 3m−5,�


h2
m = (hm−3 + x)2 = h2

m−3 + 2xhm−3 + x2 = U + x2,��
U 6

((5

2

)2

+ 2 ·
5

2
· 26 · 33

)

· 32m−10 =
14065

4
· 32m−10.s�

h3
m = (U + x2)(hm−3 + x) = U · hm−3 + U · x+ x2 · hm−3 + x3 = V + x3,��

V 6

(14065

4
·
5

2
+

14065

4
· 26 · 33 + 262 ·

5

2
· 36

)

· 33m−15 =
29673665

8
· 33m−15.�q

h4
m = (V + x3)(hm−3 + x) = V · hm−3 + V · x+ x3 · hm−3 + x4 = W + x4,��

W 6

(29673665

8
·
5

2
+

29673665

8
· 26 · 33 + 263 ·

5

2
· 39

)

· 34m−20 =
55648130305

16
· 34m−20.{4

h5
m = (W + x3)(hm−3 + x) = W · hm−3 +W · x+ x4 · hm−3 + x5 = T + x5,��

T 6

(55648130305

16
·
5

2
+
55648130305

16
·26·33+264·

5

2
·312

)

·35m−25 =
97836678193025

32
·35m−25.�r"

32 · 34 · T 6 35m−21 · 32 ·
97836678193025

32
< 35m+6 + 35m+7 + 35m+8I

32 · 34 · x5 = 32 · 265 · 35m−6 < 35m−6(310 + 311 + 312 + 313 + 314 + 2 · 315 + 2 · 316 + 2 · 317),w
32 · 34 · h5

m = 32 · 34 · T + 32 · 34 · x5
6 35m+4 + 35m+5 +

5m+11
∑

i=5m+6

2 · 3i,v{ 5m+ 5 > 4m+ 11 > u, E~8� (3.10) I8� (3.11) 	0. &H
hm−3 >

5

2
· 3m−5,
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hm−6 > 2 · 3m−7 + 3m−6 +

(5

2
− 2

)

3m−5 =
19

18
· 3m−5..

y = 2 · 3m−5 + 2 · 3m−2 + 2 · 3m−1 + 2 · 3m = 704 · 3m−5,Gy, w
h2
m = (hm−6 + y)2 = h2

m−6 + 2yhm−6 + y2 = U + y2,

U >
((19

18

)2

+ 2 ·
19

18
· 704

)

· 32m−10 =
481897

182
· 32m−10.

h3
m = (U + y2)(hm−6 + y) = U · hm−6 + U · y + y2 · hm−6 + y3 = V + y3,

V >
(481897

182
·
19

18
+ 704 ·

481897

182
+

19

18
· 7042

)

33m−15 =
9166766923

183
· 33m−15.

h4
m = (V + y3)(hm−6 + y) = V · hm−6 + V · y + y3 · hm−6 + y4 = W + y4,

W >
(19

18
·
9166766923

183
+ 704 ·

9166766923

183
+

19

18
· 7043

)

· 34m−20

=
154997864300305

184
· 34m−20.

h5
m = (W + y4)(hm−6 + y) = W · hm−6 +W · y + y4 · hm−6 + y5 = T + y5,

T >
(154997864300305

184
·
19

18
+ 704 ·

154997864300305

184
+

19

18
· 7044

)

35m−25

=
2457008148989818819

185
· 35m−25.�r"

32 · 34 · T > 35m−21 · 32 ·
2457008148989818819

185
> 35m−21 · (326 + 2 · 327 + 328)I

32 · 34 · y5 = 32 · 7045 · 35m−21 = 35m−21(2 · 327 + 2 · 328 + 2 · 329 + 2 · 330 + 2 · 331) + 2 · 332,w
32 · 34 · h5

m = 32 · 34 · T + 32 · 34 · y5 > 35m+5 + 35m+6 + 35m+12,n~8� (3.10) I8� (3.11) 	0.��U�r��d: a ≡ 7 (mod 20), b ≡ 5 (mod 20).� a = 20k + 7, k ∈ N , ℄8� (3.1) %y~�G1\ 32 ��q 3, t$
320k+6 + 3b−1 = 1 + 32 + 32(34 · j5 + 5 · 33 · j4 + 10 · 32 · j3 + 10 · 3 · j2 + 5 · j). (3.12).
�: j %(g��o2P

j =

m
∑

i=0

ai · 3
i, ai ∈ {0, 1, 2}, 0 6 i 6 m− 1, am ∈ {1, 2}, m ∈ N. (3.13)
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hr =

r
∑

i=0

ai · 3
i, r 6 m.v8� (3.13) t$

320k+6 + 3b−1 = 1 + 32 + 32 · 34 · h5
m + 160 · 33 · h4

m + 320 · 32 · h3
m

+ 320 · 3 · h2
m + 160 · hm. (3.14)vty 2.6 t$

2 · 35m+4 + 35m+5 + 35m+7
6 32 · 34 · h5

m < 2 · 35m+12,�
1 + 32 + 160 · 33 · h4

m + 320 · 32 · h3
m + 320 · 3 · h2

m + 160 · hm

< 33(160 · h4
m + 320 · h3

m + 320 · h2
m + 160 · hm)

< 34m+12.{4v8� (3.14) t$
2 · 35m+4 + 35m+5 + 35m+7 < 320k+6 + 3b−1 < 34m+12 + 2 · 35m+12.zv b− 1 6 20k + 4, s� 5m+ 8 6 20k + 6 6 5m+ 12, �q 20k + 6 = 5m+ 11. �

1 + 32 + 160 · 33 · h4
m + 320 · 32 · h3

m + 320 · 3 · h2
m + 160 · hm =

u
∑

i=0

xi · 3
i,

xi ∈ {0, 1, 2}, 0 6 i 6 u− 1, xu ∈ {1, 2}, u 6 4m+ 11,�v8� (3.14) t$' 3b−1 6 xu · 3u, �
32 · 34 · h5

m =
u
∑

i=0

bi · 3
i +

5m+10
∑

i=u+1

2 · 3i; (3.15)' 3b−1 > xu · 3u, �
32 · 34 · h5

m =

u
∑

i=0

bi · 3
i +

b−2
∑

i=u+1

2 · 3i + 35m+11. (3.16)&H
hm 6 2 · 3m−7 + 3m−6 + 3m−5 + 2 · 3m−4 + 2 · 3m−3 + 2 · 3m−2 + 2 · 3m = 5090 · 3m−7,�

32 · 34 · h5
m 6 32 · 50905 · 35m−31 < 35m+3 + 35m+4 +

5m+10
∑

i=5m+5

2 · 3i.Ck*y 1.2 %a�t$ 5m+ 4 > 4m+ 11 > u, ~8� (3.15) V8� (3.16) 	0.
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hm > 2 · 3m−6 + 3m−5 + 2 · 3m−4 + 2 · 3m−3 + 2 · 3m−2 + 2 · 3m = 1697 · 3m−6,�

32 · 34 · h5
m > 32 · 16975 · 35m−26 > 2 · 35m + 35m+3 + 35m+11,
n~8� (3.15) I8� (3.16) 	0. s�U�$"

am−6 = am−5 = 1, am−1 = 0, am−7 = am−4 = am−3 = am−2 = am = 2.&H
hm−1 6

5

2
· 3m−2,. x = 2 · 3m, �


h2
m = (hm−1 + x)2 = h2

m−1 + 2xhm−1 + x2 = U + x2,��
U 6

((5

2

)2

+ 4 ·
5

2
· 32

)

· 32m−4 =
385

4
· 32m−4.s�

h3
m = (U + x2)(hm−1 + x) = U · hm−1 + U · x+ x2 · hm−1 + x3 = V + x3,��

V 6

(385

4
·
5

2
+

385

4
· 2 · 32 + 22 ·

5

2
· 34

)

· 33m−6 =
22265

8
· 33m−6.�q

h4
m = (V + x3)(hm−1 + x) = V · hm−1 + V · x+ x3 · hm−1 + x4 = W + x4,

=

4m+3
∑

i=0

wi · 3
i + x4, wi ∈ {0, 1, 2}, 0 6 i 6 4m+ 3,��

4m+3
∑

i=0

wi · 3
i
6

(22265

8
·
5

2
+

22265

8
· 2 · 32 + 23 ·

5

2
· 36

)

· 34m−8 =
1146145

16
· 34m−8.{4

h5
m = (W + x3)(hm−1 + x) = W · hm−1 +W · x+ x4 · hm−1 + x5 = T + x5,��

T 6

(1146145

16
·
5

2
+

1146145

16
· 2 · 32 + 24 ·

5

2
· 38

)

· 35m−10 =
55390025

32
· 35m−10.�r"

32 · 34 · T 6 35m−6 · 32 ·
55390025

32
< 2 · 35m+7 + 2 · 35m+8 + 35m+10
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32 · 34 · x5 = 322 · 35m+4 < 35m+4(1 + 2 · 3 + 2 · 32 + 33 + 35 + 36),w

32 · 34 · h5
m = 32 · 34 · T +32 · 34 · x5 < 35m+4 +2 · 35m+5 +2 · 35m+6 +2 · 35m+9 +2 · 35m+10.v{ 5m+ 8 > 4m+ 11 > u, E~8� (3.15) I8� (3.16) 	0. &H

hm−1 >
5

2
· 3m−2,�w

hm−3 > 2 · 3m−7 + 3m−6 ++3m−5 + 2 · 3m−4 + 2 · 3m−3 +
(5

2
− 2

)

3m−2 =
703

486
· 3m−2..

y = 2 · 3m−2 + 2 · 3m = 20 · 3m−2,Gy, w
h2
m = (hm−3 + y)2 = h2

m−3 + 2yhm−3 + y2 = U + y2,

U >
((703

486

)2

+ 2 ·
703

486
· 20

)

· 32m−4 =
14160529

4862
· 32m−4.

h3
m = (U + y2)(hm−3 + y) = U · hm−3 + U · y + y2 · hm−3 + y3 = V + y3,

V >
(14160529

4862
·
703

486
+ 20 ·

14160529

4862
+

703

486
· 202

)

· 33m−6 > 1864 · 33m−6.

h4
m = (V + y3)(hm−3 + y) = V · hm−3 + V · y + y3 · hm−3 + y4 = W + y4,

W >
(

1864 ·
703

486
+ 20 · 1864 +

703

486
· 203

)

· 34m−8 =
25052472

486
· 34m−8.

h5
m = (W + y4)(hm−3 + y) = W · hm−3 +W · y + y4 · hm−3 + y5 = T + y5,

T >
(25052472

486
·
703

486
+ 20 ·

25052472

486
+

703

486
· 204

)

· 35m−10

=
315787195656

4862
· 35m−10.�r"

32 · 34 · T > 35m−6 · 32 ·
315787195656

4862
> 35m−6 · (2 · 313 + 2 · 314 + 2 · 315)I

32 · 34 · y5 = 32 · 205 · 35m−6 = 35m−6(1 + · · ·+ 2 · 38 + 2 · 311 + 313 + 315 + 2 · 316),w
32 · 34 · h5

m = 32 · 34 · T + 32 · 34 · y5 > 2 · 35m+5 + 35m+9 + 35m+11,n~8� (3.15) I8� (3.16) 	0.r��d: a ≡ 1 (mod 20), b ≡ 3 (mod 20).



4 � �ZF z�^ W�M"�&,R;)h��p 373� a = 20k + 1, k ∈ N .' b = 3, �℄8� (3.1) ~
G1\ 32 ��q 3, t$
320k = 1 + 32(34 · j5 + 5 · 33 · j4 + 10 · 32 · j3 + 10 · 3 · j2 + 5j). (3.17).
�: j %(g��o2P

j =
m
∑

i=0

ai · 3
i, ai ∈ {0, 1, 2}, 0 6 i 6 m− 1, am ∈ {1, 2}, m ∈ N. (3.18)Y

hr =
r

∑

i=0

ai · 3
i, r 6 m,�v8� (3.17) t$

320k = 1 + 32 · 34 · h5
m + 160 · 33 · h4

m + 320 · 32 · h3
m + 320 · 3 · h2

m + 160 · hm. (3.19)vty 2.6 t$
2 · 35m+4 + 35m+5 + 35m+7

6 32 · 34 · h5
m < 2 · 35m+12,�

1 + 160 · 33 · h4
m + 320 · 32 · h3

m + 320 · 3 · h2
m + 160 · hm < 34m+12.{4v8� (3.19) t$

2 · 35m+4 + 35m+5 + 35m+7 < 320k < 34m+12 + 2 · 35m+12,s� 5m+ 8 6 20k 6 5m+ 12, �q 20k = 5m+ 10. �
1 + 160 · 33 · h4

m + 320 · 32 · h3
m + 320 · 3 · h2

m + 160 · hm =

u
∑

i=0

xi · 3
i,

xi ∈ {0, 1, 2}, 0 6 i < u− 1, xu ∈ {1, 2}, u 6 4m+ 11,�v8� (3.19) t$
32 · 34 · h5

m =

u
∑

i=0

bi · 3
i +

5m+9
∑

i=u+1

2 · 3i. (3.20)&H
hm 6 3m−8 + 3m−5 + 3m−4 + 2 · 3m−3 + 3m−2 + 2 · 3m−1 + 3m = 12259 · 3m−8,�

32 · 34 · h5
m 6 32 · 122595 · 35m−36 < 35m−1 + 35m+1 +

5m+9
∑

i=5m+3

2 · 3i.Ck*y 1.2 %a�t$: 5m+ 2 > 4m+ 11 > u, ~8� (3.20) 	0.
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hm > 2 · 3m−8 + 3m−5 + 3m−4 + 2 · 3m−3 + 3m−2 + 2 · 3m−1 + 3m = 12260 · 3m−8,�

32 · 34 · h5
m > 32 · 122605 · 35m−36 > 35m−1 + 35m+1 + 35m+10,
n~8� (3.20) 	0. s�U�$"

am−8 = am−5 = am−4 = am−2 = am = 1, am−3 = am−1 = 2, am−7 = am−6 = 0..
x = 2 · 3m−1 + 3m = 5 · 3m−1,� hm = hm−2 + x. &H

hm−2 6
11

2
· 3m−3,�


h2
m = (hm−2 + x)2 = h2

m−2 + 2xhm−2 + x2 = U + x2,��
U 6

((11

2

)2

+ 2 ·
11

2
· 5 · 3

)

· 32m−6 =
781

4
· 32m−6.s�

h3
m = (U + x2)(hm−2 + x) = U · hm−2 + U · x+ x2 · hm−2 + x3 = V + x3,��
V 6

(781

4
·
11

2
+

781

4
· 5 · 3 + 52 ·

11

2
· 32

)

· 33m−9 =
41921

8
· 33m−9.�q

h4
m = (V + x3)(hm−2 + x) = V · hm−2 + V · x+ x3 · hm−2 + x4 = W + x4,��

W 6

(41921

8
·
11

2
+

41921

8
· 5 · 3 + 53 ·

11

2
· 33

)

· 34m−12 =
2015761

16
· 34m−12.{4

h5
m = (W + x3)(hm−2 + x) = W · hm−2 +W · x+ x4 · hm−2 + x5 = T + x5,��

T 6

(2015761

16
·
11

2
+

2015761

16
· 5 · 3 + 54 ·

11

2
· 34

)

· 35m−15 =
91556201

32
· 35m−15.�r"

32 · 34 · T 6 35m−11 · 32 ·
91556201

32
= 35m−11 · 91556201 < 35m+6
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32 · 34 · x5 = 32 · 55 · 35m−1 < 35m−1(1 + 2 · 32 + 33 + 34 + 2 · 36 + 2 · 39 + 310),w

32·34·h5
m = 32·34·T+32·34·x5

6 35m+2·35m+1+35m+2+35m+3+2·35m+5+35m+6+2·35m+9,v{ 5m+ 6 > 4m+ 11 > u, E~8� (3.20) 	0. &H
hm−3 >

11

2
· 3m−3,�w

hm−4 > 3m−5 + 3m−4 +
(11

2
− 1

)

3m−3 − 3m−2 =
35

18
· 3m−3 >

5

3
· 3m−3..

y = 2 · 3m−3 + 3m−2 + 2 · 3m−1 + 3m = 50 · 3m−3,Gy, w
h2
m = (hm−4 + y)2 = h2

m−3 + 2yhm−4 + y2 = U + y2,

U >
((5

3

)2

+ 2 ·
5

3
· 50

)

· 32m−6 =
1525

32
· 32m−6.

h3
m = (U + y2)(hm−4 + y) = U · hm−4 + U · y + y2 · hm−4 + y3 = V + y3,

V >
(1525

32
·
5

3
+ 50 ·

1525

32
+

5

3
· 502

)

33m−9 =
348875

33
· 33m−9.

h4
m = (V + y3)(hm−4 + y) = V · hm−4 + V · y + y3 · hm−4 + y4 = W + y4,

W >
(348875

33
·
5

3
+ 50 ·

348875

33
+

5

3
· 503

)

· 34m−12 =
70950625

34
· 34m−12.

h5
m = (W + y4)(hm−4 + y) = W · hm−4 +W · y + y4 · hm−4 + y5 = T + y5,

T >
(70950625

34
·
5

3
+ 50 ·

70950625

34
+

5

3
· 504

)

35m−15 =
13528596875

35
· 35m−15.�r"

32 · 34 · T > 35m−11 · 32 ·
13528596875

35
> 35m−16 · (322 + 323 + 324)I

32 · 34 · y5 = 32 · 505 · 35m−11 = 35m−11(1 + · · ·+ 316 + 2 · 317 + 318 + 2 · 319 + 2 · 320),w
32 · 34 · h5

m = 32 · 34 · T + 32 · 34 · y5 > 35m+8 + 35m+10,n~8� (3.20) 	0.' b > 3, �℄8� (3.1) ~
G1\ 32 ��q 3, t$
320k + 3b−1 = 1 + 32 + 32(34 · j5 + 5 · 33 · j4 + 10 · 32 · j3 + 10 · 3 · j2 + 5 · j). (3.21)



376 ; k � q A T 42 l.
�: j %(g��o2P
j =

m
∑

i=0

ai · 3
i, ai ∈ {0, 1, 2}, 0 6 i 6 m− 1, am ∈ {1, 2}, m ∈ N. (3.22)

hr =

r
∑

i=0

ai · 3
i, r 6 m.v8� (3.21) t$

320k + 3b−1 = 1 + 32 + 32 · 34 · h5
m + 160 · 33 · h4

m + 320 · 32 · h3
m

+ 320 · 3 · h2
m + 160 · hm. (3.23)vty 2.6 t$

2 · 35m+4 + 35m+5 + 35m+7
6 32 · 34 · h5

m < 2 · 35m+12,�
1 + 32 + 160 · 33 · h4

m + 320 · 32 · h3
m + 320 · 3 · h2

m + 160 · hm < 34m+12.{4v8� (3.23) t$
2 · 35m+4 + 35m+5 + 35m+7 < 320k + 3b−1 < 34m+12 + 2 · 35m+12.zv b− 1 6 20k − 2, s� 5m+ 8 6 20k 6 5m+ 12, �q 20k = 5m+ 10. �

1 + 32 + 160 · 33 · h4
m + 320 · 32 · h3

m + 320 · 3 · h2
m + 160 · hm =

u
∑

i=0

xi · 3
i,

xi ∈ {0, 1, 2}, 0 6 i 6 u− 1, xu ∈ {1, 2}, u 6 4m+ 11,�v8� (3.23) t$:' 3b−1 6 xu · 3u, �
32 · 34 · h5

m =
u
∑

i=0

bi · 3
i +

5m+9
∑

i=u+1

2 · 3i; (3.24)' 3b−1 > xu · 3u, �
32 · 34 · h5

m =

u
∑

i=0

bi · 3
i +

b−2
∑

i=u+1

2 · 3i + 35m+10. (3.25)Gyt�8� (3.24) I8� (3.25) n��}.$MU�r��d: a ≡ 5 (mod 20), b ≡ 7 (mod 20).� a = 20k + 5, k ∈ N , �℄8� (3.1) ~
G1\ 32 ��q 3, t$
320k+4 + 3b−1 = 1 + 32 + 32(34 · j5 + 5 · 33 · j4 + 10 · 32 · j3 + 10 · 3 · j2 + 5 · j). (3.26)�
�: j %(g�
�2P

j =

m
∑

i=0

ai · 3
i, ai ∈ {0, 1, 2}, 0 6 i 6 m− 1, am ∈ {1, 2}, m ∈ N. (3.27)
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hr =

r
∑

i=0

ai · 3
i, r 6 m.v8� (3.26) t$

320k+4 + 3b−1 = 1 + 32 + 32 · 34 · h5
m + 160 · 33 · h4

m + 320 · 32 · h3
m

+ 320 · 3 · h2
m + 160 · hm. (3.28)vty 2.6 t$

2 · 35m+4 + 35m+5 + 35m+7
6 32 · 34 · h5

m < 2 · 35m+12,

1 + 32 + 160 · 33 · h4
m + 320 · 32 · h3

m + 320 · 3 · h2
m + 160 · hm < 34m+12.v8� (3.28) t$

2 · 35m+4 + 35m+5 + 35m+7 < 320k+4 + 3b−1 < 34m+12 + 2 · 35m+12.zv b− 1 6 20k + 2, s� 5m+ 8 6 20k + 4 6 5m+ 12, �q 20k + 4 = 5m+ 9. �
1 + 32 + 160 · 33 · h4

m + 320 · 32 · h3
m + 320 · 3 · h2

m + 160 · hm =

u
∑

i=0

xi · 3
i,

xi ∈ {0, 1, 2}, 0 6 i 6 u− 1, xu ∈ {1, 2}, u 6 4m+ 11,�v8� (3.28) t$:' 3b−1 6 xu · 3u, �
32 · 34 · h5

m =

u
∑

i=0

bi · 3
i +

5m+8
∑

i=u+1

2 · 3i; (3.29)' 3b−1 > xu · 3u, �
32 · 34 · h5

m =
u
∑

i=0

bi · 3
i +

b−2
∑

i=u+1

2 · 3i + 35m+9. (3.30)Gyt�8� (3.29) I8� (3.30) ��}.E2, 8� (3.1) w�fwoA
�:b (a, b, n) = (3, 1, 2).*y$�. ) � 7 � G � J
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